
Preparation: Before beginning this activity, cut out each of the
hexagons in the Learning about bees - maths questions resource. You
may consider pre-assigning the hexagons to students based on their
maths achievement level. 

This activity integrates mathematics skills with ‘The Question’ Thinker’s
Key to help develop students’ rich questioning skills. It is an excellent
break from the pattern of the teacher asking all of the questions.
Students still need to demonstrate a solid knowledge base, which they
can gain from reading the snippets of information on each of the
hexagons. 

Step 1. Give each student one “answer” hexagon and one blank
“question” hexagon. Invite students to read the information on their
“answer” hexagon. Students are required to solve a maths problem to
complete the information on the hexagon. You may need to circulate
amongst the class and ensure that each student has identified a
strategy to complete the sum on their hexagon. 

Step 2. Invite students to take their blank “question” hexagon and think
more deeply around the bee fact on the “answer” hexagon. Students
should start with the answer, and think of three questions that can be
linked to that answer only. 

For example: 
The answer is: Only (4 x 0.5) 2 types of bees store honey. 
1.How many types of bees store honey? 
2. What do only 2 types of bees do that the rest don’t do? 
3. What do only two types of bees do with the honey they make? 

Step 3. Once students have drafted their questions, invite them to
select one only and write it on the blank “questions” hexagon, then
using glue or tape, stick the question on top of the answer so that the
question hexagon can be flipped to reveal the answer. 

Step 4. Invite all students to stick the question/answer hexagons on the
wall to create an information display, and give the class some time to
read each other’s questions, and the information they link to.

Learning About Bees: Maths Questions



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

There are around (4
x 500) _____ species

of bees native to
Australia.

Only (4 x 0.5) _____
types of bees store

honey.

Some species of
Australian honeybees
are stingless and look
for pollen up to (2 x
250) _______m from

their home. 

Australian native
honeybee colonies

make (4 x 250) _______
g or ______ kg of

sugarbag honey a year



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

European bee colonies
can produce an average

of (12 x 5) ________
kilograms of honey per

year

There are (12 ÷ 4)
______ types of bees

within a colony.

The (27 ÷ 9) _______
types of bees in a

colony are Queen bees,
worker bees and

drones.

The Queen bee’s job is
to lay eggs – she can

lay up to (4 x 500)
________ eggs per day!



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

Queen bees can live for
up to (15 ÷ 3) ____

years.

There is only (1 x 1) ___
queen per hive.

Female worker bees
spend the first (7 x 3)

_____ days of their lives
making wax and royal

jelly to feed the Queen.
After this time, their job
is to collect pollen and

nectar.

Drones live for up to (12
- 4) _____ weeks. Their
job is to mate with the

Queen.



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

Bees build their nests
by shaping beeswax

into honeycombs made
up of thousands of (42

÷ 3) ___-sided
hexagonal cells.

In the height of spring,
a colony of bees will

contain up to (40 000 +
20 000) __________

female worker bees.

Honeybees collect
nectar from flowers and

store it in their honey
stomach. They have (87

- 85) ___ stomachs –
their regular stomach

and their honey
stomach.

Bees have (12 ÷
6)_________ mandibles,
which are like pincers.
They don’t bite with

them though! They use
their mandibles to
gather pollen and

mould wax.



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

When they return to
their hive, honeybees

pass the nectar to other
workers who suck it
from their mouth. At

this stage, the nectar is
(40 + 40) _______%

water.

Bees have (33 ÷
11)_______ simple eyes.
These are on the top of

its head and are
sensitive to light.

Bees have (3 ÷
3)_________ long tongue
that they use to collect

nectar from flowers.

Bees have two pairs of
delicate wings that are
locked together with

tiny hooks, enabling the
bee to fly distances up

to (30 - 17)________
kilometres!



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

Bees can see all
colours, except (18 ÷
9)____: red and black.

Bees play a role in
generating $(45 x 2)

______ million worth of
honey and bee products

per year.

For more than (85 - 25)
_____ years, bees have
been under threat from
diseases, attacks from

parasitic mites, and
pesticide poisoning. 

Bees have (14 ÷
7)________ compound

eyes. They are made up
of lots of hexagons,

which allow bees to see
on front, behind and to
both sides all at once! 



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

Symbiosis is the name of a
relationship   between (4 ÷

2)______living things
(known as organisms) in

which the organisms
benefit from one another.
The relationship between

bees and flowers is an
example of symbiosis.

One bee will only make
1/12 of (0.5 x 2)

_________ teaspoon of
honey in its entire life.

A bee’s wings beat (100
+ 90)_____ times a

second, that’s 11,400
times a minute!

Bees have (152 -
150)______ antennae.

They are important for
touch, smell, finding

food and sensing
predators.



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

There are (450 + 450)
_______ cells in a bee’s

brain.

Fossils of bees have
been found from (25 x
4)_______ million years

ago.

Bees have (253 -
250)_______ pairs of

legs.

Beekeepers only take
the honey that bees do
not need, but this can

be as much as (9 x
5)________kg from one

hive!



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

Bees’ brains are only
about (25 - 23 - 1 )_____
mm3 in size, however,

they have great
memories!

Bee’s bodies are made
up of

(18÷6)_____sections: the
thorax is the middle part
of the bee’s body. It joins

onto the head and is
also the part of the bees’
body where the legs and

wings are attached.

Bee’s bodes are made
up of (15÷5)_____

sections: The abdomen
is the lower part of a

bee’s body. It contains
the bees’ honey

stomach. For female
honeybees, it is also
where their stinger is

attached.

Bees visit between
(4x250) _______and
(850+650) ________
flowers to fill their
honey stomachs.



Answers: Questions:

Stick question here 

Stick question here 

Stick question here 

Stick question here 

Question:

Question:

Question:

Question:

Honeybees are
important to plants

because they are
pollinators. Bees are

responsible for
pollinating at least (300
÷ 10) ______% and up to

(100 - 35) _____% of
Australian crops.

There are (1 000 000 –
476 000) _________ bee

hives in Australia.

We need to provide
chemical-free

environments for bees,
as they help to produce
at least (3 ÷ 3)___ in (24

÷ 8)____ mouthfuls of
food that we eat.

It would take about
(2000 - 900) ______

bees to make 1
kilogram or _______
grams of honey and

they would have to visit
4 million flowers.


